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Question Number : 1 Question Id : 26723611241 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is an endothermic process ?

(A) dilution of sulphuric acid

(B) sublimation of dry ice

(C) condensation of water vapours

(D) addition of water to quicklime
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 1 Question Id : 26723611241 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fofafed & § o9 9@ e Cfles uiea €2
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Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 2 Question Id : 26723611242 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
An alloy is a:

(A) Element

(B) A Homogenous mixture

(C) Compound

(D) A Heterogenous mixture
Options:

1.9 A

2. % B

3.%C

4. %# D

Question Number : 2 Question Id : 26723611242 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



(°) TP fau Ay
Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 3 Question Id : 26723611243 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The fifth member of alcohol homologous series is :

(A) Hexanal

(B) Pentanone

(C) Pentanol

(D) Hexanol
Options :
1.+ A

2. % B



3.% C

4. %D

Question Number : 3 Question Id : 26723611243 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

THIEA SHIGNTT Y| BT UrEdl I6d ®:

(°) oI
Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 4 Question Id : 26723611244 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



An object is placed at a distance of 30 cm from a convex mirror a focal length 15 cm.

The image formed is :

(A) +30cm from the pole

(B) -10cm from the pole

(C) -30cm from the pole

(D) +10cm from the pole
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 4 Question Id : 26723611244 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.9 A

3.%C

4. % D

Question Number : 5 Question Id : 26723611245 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The colour of the light which is deviated least by a prism in the spectrum of white light

is:

(A) Red

(B) Violet

(C) Blue

(D) VYellow
Options :
1.¥ A
2. % B
3. % C

4. %D

Question Number : 5 Question Id : 26723611245 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 6 Question Id : 26723611246 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In an electrical circuit two resistors 2-Ohm and 4-Ohm respectively are connected in

series to 6 Volt battery. The heat dissipated by the 4-Ohm resistor in 5 seconds will
be:

(A) 5Joules

(B) 10Joules

(C) 20Joules

(D) 30Joules



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 6 Question Id : 26723611246 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
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(4) 309

Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 7 Question Id : 26723611247 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which part of the brain controls postures and balance of the human body?

(A) Cerebrum

(B) Cerebellum

(C) Medulla

(D) Pons
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 7 Question Id : 26723611247 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
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() o=

Options :

1.¥A



3.%C

4. % D

Question Number : 8 Question Id : 26723611248 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The sum of the digits of a two-digit number is 9. If 27 is added to it, the digits of the

number get reversed. The number is:

(B) 72

(C) 63

(D) 36
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 8 Question Id : 26723611248 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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{E) 72

() 63

() 36
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 9 Question Id : 26723611249 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following can be the probability of an event?

(A) -0.032

(B) 1.57

(C) 15/23

(D) 14/9
Options :



1.9 A

3.%C

4. % D

Question Number : 9 Question Id : 26723611249 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fofafea & @ o9 & geT1 $ IvaT 8 IHdt 82
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(") 14/9
Options :
1.¥ A

2. % B
3. % C

4. % D

Question Number : 10 Question Id : 26723611250 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A cylindrical pencil sharpened at one edge is the combination of:

(A) aconeand acylinder

(B) frustum of a cone and a cylinder

(C) ahemisphere and a cylinder

(D) two cylinders
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 10 Question Id : 26723611250 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.+ A

2. % B



3.% C

4. %D

Question Number : 11 Question Id : 26723611251 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
If two interior angles on the same side of a transversal intersecting two parallel lines

are in the ratio 2 : 3, then the greater of the two angles is:

(A) 54°

(B) 108°

(C) 120°

(Dy 72°
Options:
1.9 A

2. % B
3.% C

4. %# D

Question Number : 11 Question Id : 26723611251 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 12 Question Id : 26723611252 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The sum of first 16 terms of the AP: 10, 14, 18, 22........... is:

(A) 640
(B) 320
(C) 504

(D) 540
Options :

1.¥A



3.%C

4. % D

Question Number : 12 Question Id : 26723611252 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

TH & UGH 16 Wegl BT ART: 10, 14, 18, 22..uve..... :

(M) 504

() 540
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 13 Question Id : 26723611253 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A workpiece is chamfered to remove burrs. It is observed that the chamfer width is
not uniform throughout the periphery of chamfer on the workpiece. Which one of the

following is the cause for this defect?

(A) The angle of chamfering is not correct

(B) The chamfering tool not set square to the work axis

(C) The work face not running true

(D) The overhang of the tool is too much
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 13 Question Id : 26723611253 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 14 Question Id : 26723611254 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The peen of a cross-peen hammer is

(A) Angular to the handle

(B) Straight to the handle

(C) Cross to the handle

(D) Bent towards the handle

Options :



1.9 A

3.%C

4. % D

Question Number : 14 Question Id : 26723611254 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2.% B

3. % C

4. % D

Question Number : 15 Question Id : 26723611255 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The jaws in this type of wrench open parallel with the help of a screw thus proving

suitable for all sizes of nuts. These are:
(A) Pipe wrenches
(B) Monkey wrenches
(C) Socket wrenches

(D) Allen wrenches
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 15 Question Id : 26723611255 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.9 A

3.%C

4. % D

Question Number : 16 Question Id : 26723611256 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Generally the length of the handle of a vice is

(A) 2.5times the nominal size of the vice

(B) 1.5 times the nominal size of the vice

(C) 3.5 times the nominal size of the vice

(D) 4.5 times the nominal size of the vice
Options :

1.¥A

2. % B

3.% C

4. %D

Question Number : 16 Question Id : 26723611256 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



IH dR W Th [AOR & G4 @) a8 8
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(M) 3.5 §R 9139 & AHAE HHR
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Options :

1.V A

2.%B

3. % C

4. # D

Question Number : 17 Question Id : 26723611257 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
To get a fine even surface on a workpiece by facing operation on lathe, it is necessary

to have

(A) Low cutting speed, fine feed and heavy depth of cut

(B) Low cutting speed, fine feed and light depth of cut

(C) High cutting speed, fine feed and light depth of cut

(D) High cutting speed, fine feed and heavy depth of cut
Options :

1.+ A



2. % B
3.% C

4. % D

Question Number : 17 Question Id : 26723611257 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 18 Question Id : 26723611258 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A File used for removing metal in large quantity

(A) Smooth file

(B) Second cut file

(C) Bastard file

(D) Triangular file
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 18 Question Id : 26723611258 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥A

2. % B



3.% C

4. %D

Question Number : 19 Question Id : 26723611259 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following parts of a universal surface gauge helps to draw parallel

lines along a datum edge?

(A) Fine adjusting screw

(B) Guide pins

(C) Base

(D) Rocker arm
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 19 Question Id : 26723611259 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 20 Question Id : 26723611260 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
An outside micrometre has a negative error. The correct reading can be taken by

(A) Adding the negative error in the actual reading
(B) Deducting the negative error from the actual reading
(C) Adding the twice the negative error in the actual reading

(D) Deducting twice the negative error from the actual reading
Options :

1.¥A



2. % B
3.% C

4. % D

Question Number : 20 Question Id : 26723611260 Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. # B

3.%C

4. % D

Question Number : 21 Question Id : 26723611261 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following parts of the shaper supports the table?

(A) Base

(B) Ram

(C) Saddle

(D) Clapper box
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 21 Question Id : 26723611261 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 22 Question Id : 26723611262 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is NOT the operation performed by a shaper?

(A) Cutting square threads

(B) Cutting splines

(C) Cutting keyways

(D) Machining concave surfaces
Options:

1.9 A

2. % B

3.%C

4. %# D

Question Number : 22 Question Id : 26723611262 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 23 Question Id : 26723611263 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Calculate the number of cutting stroke per minute in a shaping machine having a

speed ratio of 2:3. (Cutting speed = 20 m/min, length of stroke = 180mm)

(A) 33

(B) 66

(C) 132

(D) 125
Options :
1.+ A



3.%C

4. % D

Question Number : 23 Question Id : 26723611263 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

2:3 @I Tfd UM Il T PR &4 arel 7¥iA H ufd e ®ie
@l P G-I B A BRI (Pl B A = 20 HAey/MAe, o @t
9% = 180mn)

,:'@:, 66

I:T[:l 132

Options :

1.9 A
2. % B
3.%C

4. % D

Question Number : 24 Question Id : 26723611264 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following mechanisms is used to obtain rotary movement of slotter

table?
(A) Crank and slotted link mechanism
(B) Rack and pinion mechanism
(C) Worm and worm wheel mechanism

(D) Bevel gear mechanism
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 24 Question Id : 26723611264 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.9 A

3.%C

4. % D

Question Number : 25 Question Id : 26723611265 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following on a lathe is used to give depth of cut?

(A) Compound slide

(B) Top slide

(C) By adjusting the tool

(D) Crossslide
Options :

1.¥ A

2. % B

3.% C

4. %D

Question Number : 25 Question Id : 26723611265 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B

3. % C

4. % D

Question Number : 26 Question Id : 26723611266 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which among the following is used for bending hooks of flat and round steel bars?

(A) Bending links

(B) Bolster swages

(C) Bending blocks

(D) Fork tool
Options :
1.¥v A



3.%C

4. % D

Question Number : 26 Question Id : 26723611266 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. % B

3. % C

4. % D

Question Number : 27 Question Id : 26723611267 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following tongs is used while forging hexagonal bolt?

(A) Round tong

(B) Side tong

(C) Hollow tong

(D) Pipe tong
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 27 Question Id : 26723611267 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A



3.%C

4. % D

Question Number : 28 Question Id : 26723611268 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a vernier caliper, the main scale division, 19 mm is divided into 20 equal parts in the

vernier scale. Least count is

(C) 095

(D) 1.05
Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 28 Question Id : 26723611268 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 29 Question Id : 26723611269 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following statements indicates the principle followed in turning

taper by offsetting the tailstock?

(A) The work axis is kept in line with the lathe axis and the tool is made to move at an

angle to lathe axis

(B) The work axis is kept out of alignment with the lathe axis and the tool movement is

parallel to lathe axis

(C) The live and dead centres are moved in opposite directions to keep the work axis out

of alignment with the lathe axis

(D) The lathe axis is kept out of alignment with the work axies and the tool is made to

move at an angle to the lathe axis

Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 29 Question Id : 26723611269 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.4 A

2. % B

3. % C

4. % D

Question Number : 30 Question Id : 26723611270 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



You want to fix an irregularly shaped work piece on a lathe, which one of the

following accessories is the most appropriate?
(A) Three-jaw self-cantering chuck
(B) Face plate
(C) Driving plate

(D) Catch plate
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 30 Question Id : 26723611270 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Y T WG R 0@ AT HER & $H B o/@ HAl I6d 6,
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Options :



1.9 A

3.%C

4. % D

Question Number : 31 Question Id : 26723611271 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
While indexing which one of the following is used to give exact location of the

indexing movement?

(A) Index plate

(B) Index crank

(C) Selector arm

(D) Worm shaft
Options :

1.9 A

2. % B

3. % C

4. %D

Question Number : 31 Question Id : 26723611271 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A
2. % B
3.% C

4. % D

Question Number : 32 Question Id : 26723611272 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A lead-screw with half nuts in a lathe, free to rotate in both directions has

(A) V-threads

(B) Whitworth threads

(C) Buttress threads

(D) ACME threads
Options :

1.¥A



3.%C

4. % D

Question Number : 32 Question Id : 26723611272 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 33 Question Id : 26723611273 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following is used for holding the cutter holder in the spindle nose of

the milling machine?

(A) Collet

(B) Draw-in-bar

(C) ‘T bolt

(D) Boring bar
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 33 Question Id : 26723611273 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.9 A

3.%C

4. % D

Question Number : 34 Question Id : 26723611274 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A milling cutter should have three main properties. Which one of the following is

correct?

(A) Hardness, toughness and resistance to wear

(B) Hardness, brittleness and resistance to wear

(C) Hardness, softness and resistance to wear

(D) Hardness, flexible and resistance to wear
Options :

1.¥A

2. % B

3.% C

4. %D

Question Number : 34 Question Id : 26723611274 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 35 Question Id : 26723611275 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following statements is fit in climb milling?

(A) No slipping of teeth due to penetration

(B) downward vertical cutting force

(C) No backlash on the table spindle

(D) Thick chips developed at the point of penetration
Options :

1.¥A



3.%C

4. % D

Question Number : 35 Question Id : 26723611275 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. A

2. % B

3.%C

4. % D

Question Number : 36 Question Id : 26723611276 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



When right hand helix is to be cut, the table of milling machine should be swivelled:

(A) ina clockwise direction

(B) upanddown

(C) ina counter-clockwise direction

(D) clockwise and counter clockwise directions
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 36 Question Id : 26723611276 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A



2. % B
3.% C

4. % D

Question Number : 37 Question Id : 26723611277 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which among the following statements is correct?

(A) End mill cutters have cutting teeth on its end only

(B) End mill cutters have only straight shank

(C) End mill cutters having two flutes are known as slot drills

(D) End mill cutters and parallel shank reamers are the same
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 37 Question Id : 26723611277 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 38 Question Id : 26723611278 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A grinding wheel is marked: 51 A46 L5V -23. Here what does 5 denote?

(A) Kind of bond

(B) Structure

(C) Kind of abrasive

(D) Grain size
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 38 Question Id : 26723611278 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.9 A

2. * B

3. % C

4. % D

Question Number : 39 Question Id : 26723611279 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



For grinding carbide materials

(A) Aluminium oxide wheel is used

(B) Silicon carbide wheel is used

(C) Diamond wheel is used

(D) Corundum wheel is used
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 39 Question Id : 26723611279 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.+ A

2. % B



3.% C

4. %D

Question Number : 40 Question Id : 26723611280 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Threads are cut on a lathe with a single point tool by

(A) Setting the correct speed

(B) Setting on cut for the full depth of the thread

(C) Making a series of cuts in the same cut

(D) Moving the carriage by means of rack
Options:

1.9 A

2. % B

3.%C

4. %# D

Question Number : 40 Question Id : 26723611280 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 41 Question Id : 26723611281 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
While threading on lathe, the carriage is moved by means of

(A) Gear train on a rack
(B) Lead screw
(C) Hand wheel

(D) Feed rod
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 41 Question Id : 26723611281 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A

2.% B

3. % C

4. % D

Question Number : 42 Question Id : 26723611282 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following drilling machines is used for drilling holes where electricity

is not available?

(A) Bench drilling machine

(B) Pillar drilling machine

(C) Ratchet drilling machine

(D) Radial drilling machine
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 42 Question Id : 26723611282 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.9 A

3.%C

4. % D

Question Number : 43 Question Id : 26723611283 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which is the possible cause when a twist drill produces a rough hole on the job?

(A) The clearance angle is too big

(B) The clearance angle is too small

(C) The cutting speed is too low

(D) Feed rate is too high
Options :

1.9 A

2. % B

3. % C

4. %D

Question Number : 43 Question Id : 26723611283 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 44 Question Id : 26723611284 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Mass-produced components should be interchangeable. Which one of the following is

the most important factor required to achieve the interchangeability in mass

production?

(A) Dimensional accuracy

(B) Standardization

(C) Geometrical accuracy

(D) Surface finish

Options :



1.9 A

3.%C

4. % D

Question Number : 44 Question Id : 26723611284 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.4 A

2. % B

3. % C

4. % D

Question Number : 45 Question Id : 26723611285 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The tolerance of a hole is the difference between the

(A) Maximum hole size and maximum shaft size

(B) Maximum hole size and minimum hole size

(C) Maximum hole size and maximum shaft size

(D) Maximum hole size and minimum shaft size
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 45 Question Id : 26723611285 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 46 Question Id : 26723611286 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is the best way for preparing an emulsion?

(A) Mixsoluble oil and water by pouring both simultaneously

(B) Add water to the soluble oil

(C) Add soluble oil to the water

(D) None of the above
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 46 Question Id : 26723611286 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 47 Question Id : 26723611287 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is NOT the property of a good lubricant?

(A) No change in viscosity due to variation in temperature

(B) Reduces friction between machine parts

(C) Takes up the surface pressure between sliding parts

(D) Becomes thicker after prolonged use
Options :
1.¥ A

2. % B



3.% C

4. % D

Question Number : 47 Question Id : 26723611287 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. % B

3.%C

4. % D

Question Number : 48 Question Id : 26723611288 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The general ratio of soluble oil and water used as coolant is

(A) 10:1

(B) 1:10

(C) 1:20

(D) 20:1
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 48 Question Id : 26723611288 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A



3.%C

4. % D

Question Number : 49 Question Id : 26723611289 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Best example for gravity feed lubrication is

(A) Grease gun

(B) Ring lubricator

(C) Tell-tale lubricator

(D) Wick feed lubricator
Options :

1. A

2.%B

3. % C

4. % D

Question Number : 49 Question Id : 26723611289 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 50 Question Id : 26723611290 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following processes is used for hardening the surface of tool steel?

(A) Carburizing

(B) Cyaniding

(C) Induction hardening

(D) Hardening
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 50 Question Id : 26723611290 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.9 A
2. % B
3.% C

4. % D

Question Number : 51 Question Id : 26723611291 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



For the best result of annealing, the heated steel piece is cooled

(A) Slowly in the furnace itself by switching the heat supply off

(B) By removing the piece from the furnace and allowing it to cool in opean air

(C) By removing the piece from the furnace and placing it under a blast of air

(D) By removing the piece from the furnace and dipping it in a tank containing water
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 51 Question Id : 26723611291 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.+ A

2. % B



3.% C

4. %D

Question Number : 52 Question Id : 26723611292 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The toughness in a steel is increased and brittleness is decreased by a heat treatment

operation called

(A) Annealing

(B) Normalizing

(C) Tempering

(D) Case hardening
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 52 Question Id : 26723611292 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 53 Question Id : 26723611293 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A taper ring gauge is used for checking

(A) External taper
(B) Internal taper
(C) External threads

(D) Internal threads
Options :

1.¥A



3.%C

4. % D

Question Number : 53 Question Id : 26723611293 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

U TR 1 19 @B 9" & fag gan fear e €

(H) TRl TR

() 3aR® W

A7) eI Uml

(q)  SfidRe um
Options :

1.¥ A

2. % B

3.%C

4. % D

Question Number : 54 Question Id : 26723611294 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



In a lathe follower, steady rest will be fixed

(A) Bed

(B) Saddle

(C) Chuck

(D) Lead screw
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 54 Question Id : 26723611294 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.¥ A

2. % B



3.% C

4. %D

Question Number : 55 Question Id : 26723611295 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following chisel is used for separating metals after chain drilling?

(A) Half round nose chisel

(B) Diamond point nose chisel

(C) Cape chisel

(D) Web chisel
Options:

1.9 A

2. % B

3.%C

4. %# D

Question Number : 55 Question Id : 26723611295 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 56 Question Id : 26723611296 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an example of indirect angle measuring tool?

(A) Bevel protractor

(B) Bevel gauge

(C) Combination set

(D) Marking table
Options :

1.¥A



3.%C

4. % D

Question Number : 56 Question Id : 26723611296 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.4 A

2. % B

3. % C

4. % D

Question Number : 57 Question Id : 26723611297 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The purpose of tumbler gear in the lathe is to

(A) Cutgears

(B) Reduce spindle speeds

(C) Give designed directions of movement to the carriage

(D) Reverse the spindle direction
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 57 Question Id : 26723611297 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.+ A

2. % B



3.% C

4. %D

Question Number : 58 Question Id : 26723611298 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In engineering drawing practice, are drawn inclined at 45 degree

(A) section lines

(B) cutting plane lines

(C) dimension lines

(D) None of these
Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 58 Question Id : 26723611298 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 59 Question Id : 26723611299 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which among the following vices is used for holding sections of metal, tubes and

pipes
(A) Pin vice
(B) Tool maker vice
(C) Bench vice

(D) Pipe vice
Options :

1.+ A



3.%C

4. % D

Question Number : 59 Question Id : 26723611299 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A
2. % B
3.%C

4. % D

Question Number : 60 Question Id : 26723611300 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not a thread making process?

(A) Milling

(B) Rolling

(C) Tapping

(D) Hobbing
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 60 Question Id : 26723611300 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.+ A

2. % B



3.%C

4. % D
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